## APPENDIX – IX

### MANDATORY PUBLIC DISCLOSURE

### A. GENERAL INFORMATION:

SL. NO	INFORMATION	DETAILS
1	NAME OF THE SCHOOL	GREGORIAN PUBLIC SCHOOL
2	AFFILIATION NO. (IF APPLICABLE)	1130494
3	SCHOOL CODE (IF APPLICABLE)	30466
4	COMPLETE ADDRESS WITH PIN CODE	GREGORIAN PUBLIC SCHOOL, KILLA. DHATAV P. O., ROHA, RAIGAD DIST., MAHARASHTRA – 402 116
5	PRINCIPAL NAME & QUALIFICATION	SALAMMA JAMES M. A. B. ED
6	SCHOOL E MAIL ID	gregorianpublicschool@gmail.com
7	CONTACT DE4TAILS(LANDLINE/MOBILE)	7875916600/9820499468

# B. <u>DOCUMENTS AND INFORMATION:</u>

SL. NO	DOCUMENTS/INFORMATION	DETAILS
1	COPIES OF AFFILIATION/UPGRADATION LETTER AND RECENT EXTENSION OF AFFILIATION, IF ANY	http://gregorianpublicschool.in/Gregorian- Mandatory-Disclosure-2020.pdf
2	COPIES OF SOCITIES/TRUST/COMPANY REGISTRATION/RENEWAL CERTIFICATE AS APPLICABLE	http://gregorianpublicschool.in/Gregorian- Mandatory-Disclosure-2020.pdf
3	COPY OF NO OBJECTION CERTIFICATE ISSUED, IF APPLICABLE BY THE STATE GOVT.	http://gregorianpublicschool.in/Gregorian- Mandatory-Disclosure-2020.pdf
4	COPIES OF RECOGNITION CERTIFICATE UNDER RTE ACT, 2009, AND IT'S RENEWAL IF	http://gregorianpublicschool.in/Gregorian- Mandatory-Disclosure-2020.pdf

	APPLICABLE	
5	COPY OF VALID BUILDING SAFETY	http://gregorianpublicschool.in/Gregorian-
	CERTIFICATE AS PER THE	Mandatory-Disclosure-2020.pdf
	NATIONAL BUILDING CODE	
6	COPY OF VALID FIRE SAFETY	http://gregorianpublicschool.in/Gregorian-
	CERTIFICATE ISSUED BY THE	Mandatory-Disclosure-2020.pdf
	COMPETENT AUTHORITY	
7	COPY OF THE DEO CERTIFICATE	http://gregorianpublicschool.in/Gregorian-
	SUBMITTED BY THE SCHOOL FOR	Mandatory-Disclosure-2020.pdf
	AFFILIATION/EXTENSION OF	
	AFFILIATION OR SELF	
	CERTIFICATION BY THE SCHOOL	
8	COPIES OF VALID WATER,	http://gregorianpublicschool.in/Gregorian-
	HEALTH AND SANITATION	Mandatory-Disclosure-2020.pdf
	CERTIFICATES	

# C: <u>RESULT AND ACADEMICS:</u>

SL. NO	DOCUMENTS/INFORMATION	DETAILS
1	FEE STRUCTURE OF THE SCHOOL	http://gregorianpublicschool.in/Gregorian- Mandatory-Disclosure-2020.pdf
2	ANNUAL ACADEMIC CALENDAR	http://gregorianpublicschool.in/Gregorian- Mandatory-Disclosure-2020.pdf
3	LIST OF SCHOOL MANAGEMENT COMMITTEE (SMC)	http://gregorianpublicschool.in/Gregorian- Mandatory-Disclosure-2020.pdf
4	LIST OF PARENTS TEACHER'S ASSOCIATION(PTA) MEMBERS	http://gregorianpublicschool.in/Gregorian- Mandatory-Disclosure-2020.pdf
5	LAST THREE YEAR RESULT OF THE BOARD EXAMINATION	http://gregorianpublicschool.in/Gregorian- Mandatory-Disclosure-2020.pdf

## RESULT CLASS - X

SL. NO	YEAR	NO. OF	NO. OF	PASS	REMARKS
		REGISTERED	STUDENTS	PERCENTAGE	
		STUDENTS	PASSED		
1	2018 -19	29	29	100%	2018-19
2	2019 -20	39	39	100%	2019-20
3	2020 -21	48	48	100%	2020-21

# D STAFF (TEACHING)

SL. NO	INFORMATION	DETAILS
1	PRINCIPAL	1
2	TOTAL NO. OF TEACHERS	33
3	• PGT	2
	• TGT	16
	• PRT	14
	• PET	1
4	TEACHERS SECTION RATIO	27.63
5	DETAILS OF SPECIAL EDUCATOR	NIL
6	DETAILS OF COUNSELOR AND WELLNESS TEACHER	1

## E. <u>SCHOOL INFRASTRUCTURE</u>

SL. NO	INFORMATION	DETAILS
1	TOTAL CAMPUS AREA OF THE SCHOOL (IN SQ. MT)	54777
2	NO. AND SIZE OF THE CLASS ROOMS (IN SQ. MTS.)	24
3	NO. AND SIZE OF LABORATORIES INCLUDING COMPUTER LABS (IN SQ. MTR)	4 NOS. 3 - 800 AND 1 -600
4	INTERNET FACILITY (Y/N)	YES
5	NO. OF GIRLS' TOILET	8
6	NO. OF BOYS' TOILET	10
7	LINK OF YOU TUBE VIDEO OF THE INSPECTION OF SCHOOL COVERING THE INFRASTRUCTURE OF THE SCHOOL	http://gregorianpublicschool.in/our-school.html

# RESULT CLASS: X

S.NO.	YEAR	NO.OF	NO.OF	PASS	REMARKS
		REGISTERED	STUDENTS	PERCENTAGE	
			PASSED		
1	2017-18	27	27	100%	
2	2018-19	29	29	100%	
3	2019-20	39	39	100%	
4	2020-21	48	48	100%	

#### CERTIFICATE OF LAND

File No. 471

Date: 28th March, 2021

Certified that the land measuring 54777 sq. m is owned by the **THE GREGORIAN COMMUNITY**, fully described in the schedule mentioned hereinafter with the following details:-

Sr.	<b>Particulars</b>	Details
No.		
1	Plot No./Survey No./ Khasra	Gat No. 285 and Gat No. 246
	No./Khatuni No.	
2	Name of Street/Village, sub	Killa Village, Dhatav P. O., Roha Taluka, Raigad
	division. District and State	District, Maharashtra
3	In terms of allotment letter (sale	Sale deed dated 19/01/2006 executed by Mr. U.
	deed)	K. Chavan, Proper Officer, sub Registrar,
		Panvel, duly registered on 20/01/2006 serial
		no 474 in book No. 63 Volume No 51 on pages
		1-26 in the office of notary and Registration
		Department Panvel.
4	Registration Details:-	V.
	Duly Registered on	20th January, 2006
	Executed by	Mr. U. K. Chavan, Proper Officer, Sub Registrar,
		Panvel, Navi Mumbai
	Serial No.	474
	Book No.	63
	Volume No.	51

It is certified that the said entire land comprise of a single plot of land. It is further certified that Gregorian Public School is located on the above mentioned plot of land.

All that piece and parcel of land measuring 54777 sq. m is as follows:-

North	13695 Sq. m
South	13690 Sq. m
East	11392 Sq. m
West	16000 Sq. m

Jadhu

DM / ADM / SDM / TEHSILDAR / NAIB TEHSILDAR / REGISTRAR/SUB - REGISTRAR/EQUIVALENT LAND AUTHORITY

Stamp and

Name of the Officer:

Name of Wistrict Roha

Raymol



31/3/2021

	NAME	DATE OF BIRTH	POST	TEACHER	NATURE OF APPOINTM ENT	YEAR OF JOINING IN SERVICE		HIGHEST QUALIFIC ATION (PROFESSI ONAL)	CLASSES TAUGHT	APPOINTE D FOR SUBJECT	MAIN SUBJECT TAUGHT	ADDITIO NAL SUBJECT TAUGHT	NG IN PRESE
1	Raymol Varghese	25.08.1968	VICEPRINCI PAL	VICEPRINCIPAL	Confirmed	01/07/2015	BSC	BEd	IX,X	Maths	Maths		5 yrs
2	Dr. Soma Sil	08.06.1974	TGT	HEAD TEACHER	Confirmed	25/05/2011	MSC	PHd, Bed	IX,X	Bio,Chem, Geo,Eco	Bio,Chem, Geo,Eco		10 yrs
3	Sheena C. Joseph	02.12.1979	TGT	TEACHER	Confirmed	01/06/2009	B.A	BEd	VIII,IX	Maths, SST	Maths, SST		11 yrs
4	Geetali Karambe	22.11.1976	TGT	TEACHER	Confirmed	23/05/2008	B.A	BEd	VI,VII,VIII	Hindi	Hindi, SANS	G.K	12 yrs
5	Vaishali B. Patil	01.01.1978	TGT	TEACHER	Confirmed	09/01/2011	B.A	BEd	VI,VII,IX	Eng, SST	Eng, SST		10 yrs
6	Mr. Sudhir Jangam	23.04.1979	PET	PET	Confirmed	30/05/2013	B.A	BPEd	VI ТО X	P.T	Р.Т,	Scout & Guide	7 yrs
7	Liby Savio Fernandes	05.01.1987	TGT	TEACHER	Confirmed	22/02/2013	M.A	BEd	VII,VIII,IX		Eng,SST		8 yrs
8	Mahesh Marawade	20.01.1985	TGT	TEACHER	Confirmed	21/04/2014	M.A	BEd	VIII TO X	Sansk	Sansk	Scout & Guide	5 yrs
9	Sreeja M.	10.04.1981	TGT	TEACHER	Confirmed	02/04/2014	В. А	BEd	VI,VII,VIII,I X	Eng,SST	Eng,SST		7 yrs
10	Dyaneshwar Wani	22.03.1983	LIBRARIAN	LIBRARIAN	Confirmed	02/07/2014	M.LIB		I ТО X	Lib	Lib		6 yrs
11	Shital Pethe	01.03.1984	TGT	TEACHER	Confirmed	01/04/2016	M.Sc	BEd	VI,VII,VIII I)	Sci	Sci, Maths		3 yrs
12	Sonali Patil	04.02.1987	TGT	TEACHER	Confirmed		B.SC COMP SCI	Bed	VI ТО X	Comp,	Comp,	Scout & Guide	4 yrs
13	Sunita Dhumal	15.03.1976	TGT	TEACHER	Confirmed	27/07/2014	M.A	BEd	VI,VII,VIII	Hindi, Mara	Hindi, Marathi		6 yrs
14	Jasmin F Mascarenhs	21.08.1988	TGT	TEACHER	Contract	11/06/2018	MSC(MICRO BIO)	Bed	IV,V,VII,VIII	Sci, Maths	Sci, Maths	G.K ,M.V	2 Yr

15	Sagar Vilas Dhotre	11.01.1991	TGT	TEACHER	Contract	14/06/2019	BSC	Bed	VIII, IX, X	INCIDENCE	Science, Maths		1 yr
16	Fr. Bejoy	24.12.1987	TGT	HEAD TEACHER	Confirmed	10/08/2016	B.A	Bed, BD	IX,X	Eng,SST	Eng,SST		4 yrs
17	Cecilia D'souza	03.10.1969	NTT	TEACHER	Confirmed	23/05/2008	B.A	Montissory	1,11,	ENG,Sci,	ENG,Sci,		11 yrs
18	Geeta Zaware	28.02.1976	PRT	INSTRUCTOR	Confirmed	04/06/2013	B.A. DIP.IN MUSIC		I,TO VI	Music	Music	LIB	7 yrs
19	Shashi Raval	11.02.1989	PRT	TEACHER	Probation	02/04/2014	МА	Bed	IV,V	Sci, Maths	Sci, Maths	G.K	5 yrs
20	Archana Naik	01.02.1981	PRT	TEACHER	Confirmed	27/07/2014	M.A	IRFU	IV,V,VI,VII, VIII	Hindi ,Mara	Hindi ,Marathi	M.V, Lib	6 yrs
21	Seema B.	08.02.1980	PRT	TEACHER	Confirmed	16/08/2013	B.A	BEd	I TO IV	,Marathi,En	Hindi ,Marathi,	G.K ,IVI.V Scout &	7 yrs
22	Kiran Mahadik	25.03.1985	PRT	TEACHER	Confirmed	09/07/2012	B.A	Ded	I TO V	SST, Maths	SST, Maths	M.V,G.K	8 ys
23	Babita S. Rane	27.03.1969	NTT	TEACHER	Probation	30/07/2014	B.A	ECCed	1,11,111	Eng	Eng,Sci,Sst	G.K	6 yrs
24	Snehal Shinde	26.11.1991	PRT	TEACHER	Confirmed	02/11/2015	B.sc IT		I TO V	Comp	Comp		4 yrs
25	Neeta H.	29.12.1994	PRT	TEACHER	Probation	08/12/2015	S.S.C DIP. IN COM		I TO V	Comp	Comp		4 yrs
26	Nayan Shedge	17.12.1990	PRT	TEACHER	Confirmed	01/07/2013	B.A	DEd	I,II,IV,V	Maths	Maths,Eng ,Sans	G.K ,Mv,	7 yrs
27	Sadhana Tiwari	12.05.1983	PRT	TEACHER	Probation	20/06/2016	MA.	BEd	III,IV,V	SST	SST	G.K,MV	3 yrs
28	Vrushali Dalvi	22.02.1984	NTT	TEACHER	Probation	28/06/2011	B.Com	Bed	IV,V	Eng, Sci	Eng, Sci	Lib, M.V	9 yrs
29	Archana H. Mahalle	16.06.1976	PRT	TEACHER	Probation	20/08/2014	B.A	Bed	I,II,III,IV,V	,Marathi	Hindi ,Marathi	M.V	6 yrs
30	Pornima Gavhane	21.03.1989	PRT	TEACHER	Confirmed	16/08/2016	B.A	Ded	1,11,111,	Hindi ,Marathi	Hinai ,Marathi,S	M.V	3 yrs
31	Priyanka Rajmane	27.08.1987	PRT	INSTRUCTOR	Probation	19/06/2018	B.V.A		II ТО X	Art	Art		1 Yr
32	Jaya Badal Jadhav	02.05.1986	PET	PET	Probation	19/06/2018	B.A	Ded	I TO V	P.T	P.T	Lib	2 Yr

33	Regina V	24.05.1985	NTT	TEACHER	Confirmed	17.12.2012	BA	NTTC	PRE-PRIMARY	!	9 yrs

#### **INSTRUCTIONS TO FILL TEACHE**

Aadhaar Number Should Only Be 12 Digit Number

Gender should be specified as M or F only

Date of Birth should be specified in dd/mm/yyyy format

Social Category should be specified as GEN,SC,ST,OBC only

Post should be specified as PGT,TGT,PRT,PET,PRINCIPAL,VICE-PRINCIPAL,HM only

Type of Teacher should be specified as Head Teacher, Teacher, Instructor, PET, PRINCIPAL, VICE-PRINCIPAL

Nature of Appointment should be specified as Regular, Contract, Part-Time

TRAINED IN USE OF COMPUTER/TEACHING THROUGH COMPUTER should be specified as Y or N

DISABILITY (IF ANY) should be specified as Y or N

TRAINED TO TEACH CWSN should be specified as Y or N

 $\label{eq:mobile} \textbf{MOBILE NUMBER should be } \textbf{10-digit} \ \textbf{number only}. \ \textbf{Only one mobile number should be specified}$ 

Only one email id should be specified

# **GREGORIAN COMMUNITY**

# TRUST MEMBERS DETAILS

SI No	Name of the Trustees	Designation	Address	Contact Number
1	H G Geevarghese Mar Coorilos	los President Orthodox Church Centre , Sector 10 A Vashi, Navi Mumbai -400703		022 27801427
2	Rev. Fr. Jobin Varghese	Secretary	Orthodox Church Centre , Sector 10 A Vashi, Navi Mumbai -400703	9967996954
3	Rev. Fr. Alin Joseph Alex	Treasurer	Orthodox Church Centre , Sector 10 A Vashi, Navi Mumbai -400703	9495317848
4	Rev. Fr. Abraham Joseph	Member	201, Sun Sagar Plot No. 89, Sec. 10 A Vashi , Navi Mumbai -400703	9833176567
5	Mr. M. T. Kochukunju	Member	Ray Constructions, Opp. IIT Market Gate, Powai, Bombay-400076	
6	Mr. R. T. Thomas	Member	A/203, Shivam Building, Apnaghar CHS, Lokhandawala Complex, Andheri Mumbai- 400053	9004691512
6	Dr. Sunny Pariyaram	Member	1103, City Tower Opp. Shaikh Misri Dagah, Wadala Estate, Mumbai- 400037	9820031244
7	Mr. Jacob Varghese	Member	102, Saideep , Opp. Vaishali Hotel, Nr. Chembur Railway Station, Mumbai	9821125694
8	Mr. K. Thomas	Member	Flat No. 8, 1st Floor, Blue Haven CHS, JN-4, BLDG No.10, Sec-10, Vashi-4000703	9821032645



# **GREGORIAN PUBLIC SCHOOL**

ACADEMIC CALENDAR 2020 - 2021

DATE	DAY	Apr-20	Apr-20	Apr-20
6	MONDAY			STD X WHATSAPP CLASS BEGINS
10	FRIDAY	GOOD FRIDAY	GOOD FRIDAY	GOOD FRIDAY
14	TUESDAY			STD IX WHATSAPP CLASS BEGINS
16	THURSDAY		WHATSAPP CLASS BEGINS	STD VI TO VIII CLASS BEGINS
21	TUESDAY	SR. KG,JR KG WHATSAPP CLASS BEGINS	COUNSELING CLASS	COUNSELING CLASS
23	THURSDAY		11	п
25	SATURDAY		11	II.
		May-20	May-20	May-20
6	WEDNESDAY	NURSERY WHATSAPP CLASS BEGINS		
16	SATURDAY			
TO	TO	SUMMER HOLIDAYS	SUMMER HOLIDAYS	SUMMER HOLIDAYS
31	SUNDAY			
		Jun-20	Jun-20	Jun-20
1	MONDAY	WHATSAPP CLASS BEGINS AFTER HOLIDAYS	WHATSAPP CLASS BEGINS	WHATSAPP CLASS BEGINS
		Jul-20	Jul-20	Jul-20
13	MONDAY			BEGINS ONLINE CLASS CLOUD NEXT TEAMS
20	MONDAY		STD III TO V ONLINE CLASS BEGINS	
			CLOUD NEXT TEAMS	
		Aug-20	Aug-20	Aug-20
15	SATURDAY	INDEPENDENCE DAY CELEBRATION	INDEPENDENCE DAY CELEBRATION	INDEPENDENCE DAY CELEBRATION
22	SATURDAY			
TO	TO	GANESH CHATURTHI HOLIDAYS	GANESH CHATURTHI HOLIDAYS	GANESH CHATURTHI HOLIDAYS
26	WEDNESDAY			
31	MONDAY	BEGINS ONLINE CLSS CLOUD NEXT TEAMS		
		Sep-20	Sep-20	Sep-20
7	MONDAY		STD III TO V PA 1 BEGINS	PA1 BEGINS
5	FRIDAY		TEACHERS DAY CELEBRATION	TEACHERS DAY CELEBRATION
8	TUESDAY		READING WEEK BEGINS	READING WEEK BEGINS
12	SATURDAY		READING WEEK CELEBRATION	READING WEEK CELEBRATION
14	MONDAY		PA1 ENDS	PA1 ENDS
			HINDI DIWAS	HINDI DIVAS
28	MONDAY	FOUNDER'S DAY	FOUNDER'S DAY	FOUNDER'S DAY
		Oct-20	Oct-20	Oct-20
2	FRIDAY	GANDHI JAYANTI	GANDHI JAYANTI	GANDHI JAYANTI
7	WEDNESDAY	BISHOP'S BIRTHDAY	BISHOP'S BIRTHDAY	BISHOP'S BIRTHDAY

25	SUNDAY	DUSSEHRA	DUSSEHRA	DUSSEHRA
27	TUESDAY	STORY TELLING FOR NURSERY		
29	THURSDAY	ID-E-MILAD	ID-E-MILAD	ID-E-MILAD
30	FRIDAY	STORY TELLING FOR JR KG		
		Nov-20	Nov-20	Nov-20
2	MONDAY	STORY TELLING FOR SR.KG	FIRST TERM EXAM BEGINS	FIRST TERM EXAM BEGINS STD VI TOVIII
				PA2 FOR STD IX , X
9	MONDAY	PRE PRIMARY TERM 1 ASSESSMENT	FIRST TERM EXAM ENDS	FIRST TERM EXAM ENDS
				PA 2 FOR IX,X ENDS
12	THURSDAY	DIWALI AND CHILDRENS DAY CELEBRATION	DIWALI AND CHILDRENS DAY CELEBRATION	DIWALI AND CHILDRENS DAY CELEBRATION
14	SATURDAY	DIWALI	DIWALI	DIWALI
30	MONDAY	GURU NANAK JAYANTI	GURU NANAK JAYANTTI	GURU NANAK JAYANTI
		Dec-20	Dec-20	Dec-20
10	THURSDAY		SCHOOL FEST	SCHOOL FEST
11	FRIDAY		SCHOOL FEST	SCHOOL FEST
23	WEDNESDAY	CHRISTMAS CELEBRATION	CHRISTMAS CELEBRATION	CHRISTMAS CELEBRATION
25	FRIDAY	CHRISTMAS	CHRISTMAS	CHRISTMAS CELEBRATION
		Jan-21	Jan-21	Jan-21
4	MONDAY		PA 2 BEGINS	PA2 FOR STD VI TO VIII
				PA3 FOR STD IX,X BEGINS
11	MONDAY		PA2 ENDS	PA2 , PA3 ENDS
14	THURSDAY	MAKAR SAMKRANTI	MAKAR SAMKRANTI	MAKAR SAMKRANTI
26	TUESDAY	REPUBLIC DAY	REPUBLIC DAY	REPUBLIC DAY
		Feb-21	Feb-21	Feb-21
1	MONDAY			STD X MODEL I EXAM BEGINS
10	WEDNESDAY			STD X MODEL I EXAM ENDS
11	THURSDAY			FAREWELL CLASS X
19	FRIDAY	SHIVAJI JAYANTI	SHIVAJI JAYANTI	SHIVAJI JAYANTI
		Mar-21	Mar-21	Mar-21
1	MONDAY	ANNUAL EXAM BEGINS	ANNUAL EXAM BEGINS	ANNUAL EXAM BEGINS
10	WEDNESDAY	ANNUAL EXAM ENDS	ANNUAL EXAM ENDS	ANNUAL EXAM ENDS
11	THURSDAY	MAHA SHIVRATHRI	MAHA SHIVRATHRI	MAHA SHIVRATHRI
29	MONDAY	HOLI	HOLI	HOLI
30	TUESDAY	RESULT	RESULT	RESULT
31	WEDNESDAY	GRADUATION DAY		

Dear Parent,

Hope this finds you all in good health. This is to inform you all that CBSE Board exam registration for students of Grade IX and X have started for the Academic Year, 2020-2021. The school needs to register the names of the students to Board, at the earliest.

#### CLASS X

The parents are requested to pay the registration payment of Rs. 1,850/-(One Thousand Eight Hundred and Fifty only - Rs. 1500/- for 5 subjects and Rs. 350/- for migration certificate)

#### **CLASS IX**

The parents are requested to pay the registration payment of Rs. 350/-(Three Hundred and Fifty only – For registration and photo).

We have arranged for a photo session on 1<sup>st</sup> of October, 2020 for class IX students. Registration form will be issued from the school office, from 29<sup>th</sup> September, 2020. Requesting you to please duly fill the form and submit the same to the office on or before 5<sup>th</sup> October. Registration fees must be paid in cash.

Thanks and Regards,

SALAMMA JAMES

Principal

N. B. Please note that there is a late fee of Rs. 2,000/- charged by CBSE, in addition to exam fees for students those who are submitting the form late.

Dear Parent,

Greetings from Gregorian Public School. Hope you all are doing well by the grace of Almighty. I am sure that you all must be taking all precautionary measures against the deadly pandemic Covid 19. We have already forwarded the time table for 1st term exam which is scheduled from 2nd November, 2020 onwards. As you are aware that, the students must complete 2 installments of fees before the exam. If you have any queries regarding this, please you may please contact the Administrator on mobile numbers 8806367208/9665034858 or the Chief Accountant on 88063 67208. Fee counter timing is from 9.00 a.m. to 1.00 p.m. from Monday to Friday. Fees will be acceptable by way of:-

- 1. Cash
- 2. Cheque / DD
- 3. Online payment into the under mentioned account.

Online banking details:-

### For Primary & Secondary

## **Pre-Primary**

Account Name-Gregorian Public School, A/c Name-Gregorian Pre Primary School Account No. 122110100011544 Account No. 122110110001447

Bank Name – Bank of India Branch – Dhatav

IFSC Code – BKID 0001221 IFSC Code – BKID 0001221

The receipt of the online payment will be forwarded to you, once we get the transactional details from your side. Once the on-line transaction is done, please share the transaction details to <a href="mailto:gregorianpublicschool@gmail.com">gregorianpublicschool@gmail.com</a>.

We would like to take this opportunity to thank you for all the co-operation and support you have rendered during the past years. We are anticipating the same from you, in the coming years too. Wishing my students All the Very Best for their exam.

Thanks and Regards,

(SALAMMA JAMES)
Principal

# GREGORIAN PUBLIC SCHOOL CLASSWISE STUDENT STREANGTH 2020-21

CLASS	NO. OF SECTIONS	NO.OF STUDENTS
NURSERY	1	35
JR. KG	2	47
SR. KG	2	62
I STD	2	80
II STD	3	109
III STD	2	77
IV STD	3	108
V STD	2	87
VI STD	3	116
VII STD	3	119
VIII STD	2	91
IX STD	2	77
X STD	2	48



# GREGORIAN PUBLIC SCHOOL FEE STRUCTURE 2020-21

Class Tuition Fee		Term Fee	Gymkhana, Activity Fee & Lab fee	Smart Class Fee
Pre- primary	11040	1840	4620	-
Class I - IV	11040	1840	7320	1680
Class V – X	11040	1840	8400	1680

**PRINCIPAL** 

PRINCIPAL \*

AFF No-1130494

KILLA, DHATAV, P.O.
ROHA 402116

ORIAN PUBLIC SCA

#### MINUTES OF PTA MEETING HELD ON 20<sup>™</sup> FEBRUARY, 2021

PTA Meeting date - 20th February, 2021 Venue - School class room

#### Participants:-

- Mrs. Salamma James Principal
- Rev. Fr. Bejoy George Supervisor, Primary Section
- Mrs. Raymol Varghese Vice Principal
- Mr. Mahesh Marawade Staff Secretary
- Dr. (Mrs.) Soma Sil Supervisor, Secondary Section
- Mrs. Santha Sabu George
- Mrs. Sonali Patil
- PTA Teachers
- PTA Parents

#### Following were the Agenda for the meeting:-

- 1. Prayer
- 2. Welcome
- 3. Evaluation and achievements of previous year
- 4. Offline classes of Std. X, IX & VIII
- 5. Examination (Board exam & School exam)
- 6. Nursery admission and new admission for other classes
- 7. Fees of 2020 2021 and next academic year
- 8. Final Exam preparations
- 9. Book Bank
- 10. Book distribution
- 11. Any other subject with the permission of the President
- 12. Vote of thanks

The meeting started with silent prayer. Mrs. Raymol Varghese, Vice Principal, extended a warm welcome to one and all. She has introduced the new administrator Mrs. Santha Sabu George to the parents.

Since there was no representative for 1<sup>st</sup> Std. Mr. Nilesh J. Shinde was selected as the representative. Principal, Mrs. Salamma James explained the academic achievements last year through PPT presentation on smart board. She happily informed that this is the fourth consecutive year that we are getting 100% success in the Board examination. The toppers, Jeet Jain scored 94.2%, Soham Deshmukh got 93.2% and Arpit Bhavesh scored 92.2%. More than 60% students

got distinction. Master Jeet Jain got 100/100 for Sanskrit this year. Last year Shreya Ghayke got 100/100 for Maths and Manas Ubhare secured 100/100 for social science. These two toppers were felicitated during the Independence day celebration. Manas was out of station

Independence Day celebration was celebrated in which our President, Manager, Teachers and 10<sup>th</sup> std. students attended. Students who got 100/100 were felicitated.

Teachers' Day was celebrated on 5th September, 2021. Children have participated in greeting card making activity. Founder's day was celebrated on 28th September, 2021. Children's day was celebrated. Online essay competition was conducted for students from III-IX.

In connection with Gandhi Jayanthi, Swatchata Abhiyan was conducted to inculcate the habit of cleanliness in students. This also taught students about proper utilization of time as well as self-hygiene especially in this pandemic situation. Children did it from their home. The International Day of Non-violence is marked on 2<sup>nd</sup> October, the birthday of Mahatma Gandhi. On this occasion an Essay Competition meant for students to express their views was conducted online. Students from Std III to IX participated in this competition. The purpose of this contest was to celebrate life teachings, contributions and struggle of Mahatma Gandhi and to encourage to think critically about it and personally connect it with their life and follow his path of non-violence.

Gregorian Community's President Bishop's birthday, Diwali celebration, Lantern making activities, Rangoli decoration, Christmas etc. were conducted.

CBSE online trainings were scheduled for teachers to cope up with the technology based learning subject wise. All teachers registered and attended minimum two trainings. Teachers received e-certificates for the trainings.

Online DSSL Exam was conducted in the month of September, by Discovery Channel. More than 100 students participated. Three among all participants, qualified for 2<sup>nd</sup> round of DSSL. The selected ones are the following students:-

- a) Arnav Amar Salagare (Std IV)
- b) Sneha Nilesh Chaudhari (Std VI)
- c) Vinayak Janardhan Singh (Std X)

Online Olympiad exam was conducted in the month of December 2020 and January 2021. 15 students participated in Olympiad Exams such as IGKO, IEO, NSO, IMO.

Aptitude test was conducted by Dr. Kamini Deshmukh on 19<sup>th</sup> February for 10<sup>th</sup> Std. students.

12<sup>th</sup> February, i2i News Media visited us and conducted an interview with us and our President Thirumeni was present during that time. Thirumeni blessed all the children those who are writing Board exams.

Off-line classes were started for 10<sup>th</sup> Std. from 7<sup>th</sup> December, 2020 and for Std. IX from 1<sup>st</sup> February, 2021 onwards.

Parents of Std. IX have complained that 2 hours is not sufficient for on line studies hence it has to be taken as 4 hours minimum. Principal said that we will be considering this.

Principal explained about the fees matters that this year as per the Management decision 25% concession was given. In the meeting conducted on 23<sup>rd</sup> November, 2019, the parents have already agreed on the fee structure to increase the fee as per Govt. regulation of 15% for two years with a proportion of 8% and 7% i.e., for the academic year 2020-2021 8% rise and for academic year 2021-2022 a hike of 7%. But due to pandemic situation we have not increased the fees during 2019-2020 & 2020-2021. Now during 2021-2022 we will be increasing 8% increase fees which the parents have agreed unanimously.

Principal explained about our new plan of starting book banking, i.e., used text books of every class can be brought to the school library and the same can be given to children who are finding it difficult to purchase new texts.

PTA members also suggested that the actions which are taken by the school against the defaulters are reasonable. After giving 25% concession, if they are not paying it is not appreciable and school should take action against them. Principal explained that few people who are really poor needs sympathy. We have to find out some sponsors for them. All other are taking advantage this time. PTA members have agreed with that.

Tea and biscuits were given to all participants and Meeting ended with vote of thanks by Rev. Fr. Bejoy George.

#### MINUTES OF PTA MEETING HELD ON 23<sup>PD</sup> NOVEMBER, 2019

The school meeting of the PTA was held on 23<sup>rd</sup> November, 2019 Venue - School Library

Participants:-

- Mrs. Salamma James Principal
- Rev. Fr. Bejoy George Supervisor, Primary Section
- PTA Teachers
- PTA Parents

Following were the Agenda for the meeting:-

- Prayer
- Introductory speech & welcome
- Achievements from July to November, 2019
- Nursery, new admission for the academic year 2020-2021
- Fee structure revision for the Financial Year 2020 2021
- Sports Finale
- Any other subject with the permission of the Chair
- Vote of thanks

Prayer and welcome speech was delivered by Rev. Fr. Bejoy George. Principal, Mrs. Salamma James explained the academic achievements of the school for the past six months through PPT presentation on smart board. She has explained the constraint of time due to which all photos and details could not be shared. Also, madam expressed her vision to start Water Bell in the school as a step to inculcate the habit of drinking water among students and teachers. She has informed the parents that December, 2019 onwards the Nursery admission forms for the academic year 2020-2021 will be made available and advertisements, flux etc., will be displayed accordingly. Parents were further informed the need to increase the fee in compliance with Education Board's permission for private institutions to raise fee by 15% in two years. Rev. Fr. Bejoy George confirmed the same. He and Principal have asked the parents to put forward their suggestions on the same regarding the proportion of fee increase for the next two years. The Vice President said that the fee matter should be discussed last.

Principal informed that the sports finale will be conducted on January, 2020 and the date for the same will be given by respected Thirumeni, as he is extremely busy in the month of December. Principal also stated that Remedial classes will be started for weak students. The numbers of children however become less, as parents don't send their children for classes. At this the Vice President suggested that it is the fault of those parents who don't send their children, however the classes should be conducted even if number is less of attending students.

The Vice President asked Principal that parents want to discuss some issues. Accordingly parents put forward their issues which were clarified accordingly by the Principal and Fr. Bejoy George. The three children who were underage and were in Std. I issue was discussed and clarified. One parent enquired about the Std. X Board exam centre. For this Principal clarified that the forms and school details of nearby CBSE schools have been forwarded to Pune Office of CBSE. Rev. Fr. Bejoy also said that the school is in touch with the Pune office regarding centre. The Vice President asked Principal to inform Mr. Sanoop Gopinath, the administrator, to coordinate with them and necessary help will be provided accordingly.

Some parents complained that marks given to students of 3<sup>rd</sup> Std in SST & Computer subjects are very less and also that children are not able to understand specially computer subject and many are failing. Mostly the problem is with std III, IV & V computer subject. Principal explained that the small children are learning computer for the first time, thus they face some problems. One parent also said that exams were being taken before the portion being completed and they want to meet to discuss about this situation. The Vice President suggested that the parents who are facing problems can come to school and meet the principal. She also has agreed on the same.

Then the Vice President asked about the issue of school bag weight. Principal explained that some books are kept in school. He suggested to bring changes in time table to which Principal replied that only next academic year such a step could be taken. One parent raised the issue of note books are not being checked by teachers timely and children are making lot of mistakes. Fr. Bejoy suggested that after completion of each chapter, note books should be checked by concerned teachers and assured the parents the same. Some parents also said that hand writing of students was very poor because they are not given enough time to write. Some parents also asked why school continued classes after exams. Fr. Bejoy clarified that after 40 marks papers, children can't be sent home. We can't call them for one hour to school. Full day they can attend class or else what the are teachers supposed to do? Also it makes no sense for children to travel one hour to write one hour paper when they can utilize the whole day to complete their studies.

One parent also suggested to try to conduct Scout and Guides at State level due to which students may get variety of opportunities in future. They were explained that this was the third year that the initiation of Scout and

Guides in School. Parent also suggested to send teachers for Scout and Guides training at State Level. Principal informed that in the last camp of Scout and Guides training members from Pen came here to witness the camp. Vice President suggested for conducting NCC also in school which will help students who wish to pursue NDA in future.

One parent said that the Std. X students are facing problems in understanding Physics. Principal explained that the teacher knows the basic concepts well but some students are naughty. Students can also ask the concepts again which they don't understand. Also Principal explained that marks are being allotted strictly and parents shouldn't worry about that as it is for child's welfare only.

One parent also asked to give option to choose Marathi after Std. VI. Principal explained that CBSE gives Sanskrit and Hindi as options after Std. VI. Mr. Mahesh, Sanskrit teacher explained his past experience at Rathi school where students opted for Sanskrit rather than Hindi as it is a more scoring subject. Vice President suggested to discuss about it in parents' meeting.

Principal asked the teachers to confirm that syllabus was given to all students subject wise. The Vice President asked as to why syllabus is not being given in the handbook to which Fr. Bejoy and Principal explained that sometimes due to lack of time availability syllabus is altered a little. Fr. Bejoy clarified that the books are semester wise and children know that well. On the issue of late fee being taken, Fr. Bejoy clarified that fees was taken not every month but three months time is given.

Since the ID cards were received late the Vice President said not to issue ID cards this year. The matter was clarified by the Principal and Fr. Bejoy that in Roha the cost is extremely high thus Mumbai company was approached due to which delays took place. The Vice President affirmed that he knows of a party who will give ID cards for Rs. 20/- per card and the information he will share with the school. On the issue of Std I children getting punished by PT Teacher for not wearing House dress and shoes. Fr. Bejoy clarified that there is no punishment as such. Only the students may be told to stand aside.

Principal, Fr. Bejoy & Vice President PTA agreed to keep half an hour time for parents to meet to discuss any issue or problem. Principal affirmed that meetings will be conducted from next week onwards. The Vice President asked whether schools observed holidays for 2<sup>nd</sup> and 4<sup>th</sup> Saturdays.

Principal confirmed that for Std. IX & Std. X class we are avoiding holidays and conducting school as was decided in last meeting. During Diwali vacation also Principal has confirmed that classes were conducted for them i.e. for Std. IX & X. Vice President also said that children are not concentrating properly to which Fr. Bejoy suggested meditation as a solution. Vice President also said that lot of activities should be avoided along with academics but Fr. Bejoy stated that this is the right time to give many choices to children and give them maximum opportunity to do what they want rather than limiting them to two choices only.

Principal suggested that students should first opt for basic Maths before opting for standard Maths as this subject in CBSE is difficult. About the school bag issue it was further discussed among Principal and teachers that for Primary section there is no need to bring text book as Smart Board has every content. Text books can also be avoided in Secondary for some subjects. One parent also said that computer teacher of Std. III is not explaining doubts of children. Principal assured to look into the matter and confirmed that the computer teacher is good.

Finally the parents agreed on the fee structure to increase the fee as per Govt. regulation of 15% for two years with a proportion of 8% and 7% i.e., for the academic year 2020-2021 8% rise and for academic year 2021-2022 a hike of 7%. Principal confirmed that once the fee structure is prepared the matter can be further discussed. Tea and snacks were distributed to all and afterwards vote of thanks was given by Mr. Mahesh Marawade before the meeting got dispersed.

This is to inform you all that a PTA meeting for the academic year 2020-2021 is scheduled on 20<sup>th</sup> February, 2021 (Saturday) at 10.00 a. m. The agenda for the meeting is given below:-

- 13. Prayer
- 14. Welcome
- 15. Evaluation and achievements of previous year
- 16. Offline classes of Std. X, IX & VIII
- 17. Examination (Board exam & School exam)
- 18. Nursery admission and new admission for other classes
- 19. Fees of 2020 2021and next academic year
- 20. Final Exam preparations
- 21. Book Bank
- 22. Book distribution
- 23. Any other subject with the permission of the President
- 24. Vote of thanks

Kindly be present for the same.

Thanking you,

#### **PRINCIPAL**

# PTA MEMBERS' MEETING ON 20-02-2021

Sr. #	Name of Teacher	Signature	Name of Parent	Signature
1	Ms. Poornima		Mr. Nilesh J. Shinde	
2	Ms. Rupali Tikone		Mrs. Aarti Chandorkar	
3	Mrs. Kiran Mahadik		Mr. Vinod Chandorkar	
4	Ms. Nayan Shedge		Mrs. Vibha Bhatikare	
5	Mrs. Vrushali Dalvi		Mrs. Deepali Agarwal	
6	Mrs. Shreeja Mohan		Mr. Sandeep Singhvi	
7	Ms. Shtial Pethe		Mr. Sanjiv Ghuge	
8	Mrs. Geetali Karambe		Mrs. Poonam Vedak	
9	Mrs. Sheena Tom		Mr. Rajkumar Kulkarni - VP	
10	Dr. (Mrs.) Soma Sil		Mr. Ravindra More	

Mrs. Salamma James - Principal

Mr. Mahesh Marawade – Staff Secretary

Re. Fr. Bejoy George – Supervisor

Mrs. Raymol Varghese – Vice Principal

Mrs. Santha Sabu George - Administrator



महाराष्ट्र MAHARASHTRA

O 2019 O



# <u>AFFIDAVIT</u>

Rev. Fr. Jobin Varghese, 33yrs, Gregorian Community Campus, Killa, P. O. Dhatav, Roha-402116, hereby confirm that:-

- 1. That I am one of the trustee of the Gregorian Community Reg No. MAH/575-2000/THANE of the Registry at Thane and that I am competent to swear to the affidavit for and on behalf of the trust.
- 2. That the trust is registered primarily for education and charity.
- 3. The following are the Name and address of the members of the trust.





PTO 1 of 2

- i. H. G. Geevarghese Mar Coorilos, Bishop, Orthodox Church Centre, Sector 10 A, Vashi, Navi Mumbai 400 703.
- ii. Rev. Fr. Jobin Varghese, Priest, Gregorian Community Campus, Killa, P. O. Dhatav, Roha-402 116
- iii. Rev. Fr. Alin Joseph Alex, Priest, Orthodox Church Centre, Sector 10 A, Vashi, Navi Mumbai 400 703.
- iv. Rev. Fr. Abraham Joseph, Principal, 201, Sun Sagar Plot No. 89, Sec. 10 A Vashi , Navi Mumbai -400 703
- v. Mr. M .T. Kochukunju, Business, Ray Constructions, Opp. IIT Market Gate, Powai, Bombay-400 076
- vi. Mr. R. T. Thomas, Business, A/203, Shivam Building, Apnaghar CHS, Lokhandawala Complex, Andheri Mumbai-400053.
- vii. Dr. Sunny Pariyaram, Business, 1103, City Tower Opp. Shaikh Misri Dagah, Wadala Estate, Mumbai- 400 037.
- viii. Mr. Jacob Varghese, Chartered Accountant, 102, Saideep, Opp. Vaishali Hotel, Nr. Chembur Railway Station, Mumbai
- ix. Mr. K. Thomas, Architect, Flat No. 8, 1st Floor, Blue Haven CHS, JN-4, BLDG No.10, Sec-10, Vashi-400 703
- 4. That the above trustees are non related to each other
- 5. That the trust is non-Proprietary in character.
- 6. That the trust is not run for any profit motive.

All the facts stated above are true to best of my knowledge and helief.

Fr. Jobin Varghese

Secretary



महाराष्ट्र MAHARASHTRA

O 2019 O



# **AFFIDAVIT**

I Salamma James, Principal of the Gregorian Public School, Killa, P. O. Dhatav, Tal. Roha, Raigad Dist. Maharashtra, do here by make oath and state on solemn affirmation that our school is not sponsoring candidates for board examination of any other school/ branch which is not affiliated to the board.



# GREGORIAN PUBLIC SCHOOL BOOK LIST FOR THE YEAR 2021-2022 NURSERY 65 QTY

SR.	PARTICULAR	PUBLICATION	RATE
1.	TRACING FUN PRIMER	NEXT CURRICULUM	299.00
2.	NUMBER EXPRESS PRIMER	NEXT CURRICULUM	180.00
3.	PERWINKLE WRITING SKILL A TO Z CAPITAL	PERWINKLE	130.00
4.	PERWINKLE WRITING SKILL NUMBERS UPTO 20	PERWINKLE	120.00
5.	NURESERY RHYMES A	FIREFLY PLUS	150.00
6.	DRAWING BOOK RED	1 PIC	20.00
7.	BOOK COVER SET		100.00
		TOTAL	999.00
		DISCOUNT	99
	TOTAL AMOUNT - 900.00		900

<sup>\*\*</sup>RAVECHI BOOK & STATIONERY SHOP.NO.7 PLOT NO.1 SURBHIPARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF -PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

# GREGORIAN PUBLIC SCHOOL BOOK LIST FOR THE YEAR 2021-2022 JR.KGQTY-60

SR.	PARTICULAR	PUBLICATION	RATE
1.	LETTER DELIGHT B PRIMER A	NEXT PLAY	149.00
2.	LETTER DELIGHT C PRIMER A	NEXT PLAY	139.00
3.	NUMBER EXPRESS PRIMER A	NEXT PLAY	219.00
4.	ADHARIKA PRIMER A	NEXT PLAY	215.00
5.	PERIWINKLE WRITING SKILL CAPITAL LETTER & SMALL	PERIWINKLE	115.00
	LETTER		
6	PERIWINKLE WRITING SKILL NUMBERS UPTO 50	PERIWINKLE	135.00
7	NUERSERY RHYMES B	FIREFLY PLUS	150.00
8	DRAWING BOOK		20.00
9	COVER SET		100.00
		TOTAL	1357.00
	NOTE BOOK		
1	A5 DOUBLE LINE NOTE BOOK 76 PGS	1	28.00
2	A5 NOTE BOOK ENGLISH FOUR LINE 76 PGS	1	28.00
3	A5 NOTE BOOK MATHS MEDIAM SQUARE LINE 76 PGS	1	28.00
4	BOOK COVER	1	
		TOTAL	84.00
		GR TOTAL	1441.00
		DISCOUNT	141
	TOTAL AMOUNT- 1300.00		1300.00

<sup>\*\*</sup>RAVECHI BOOK & STATIONERY SHOP.NO.7 PLOT NO.1 SURBHIPARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF
-PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

<sup>\*</sup>Note :-please check the book's before leaving the school premise

<sup>\*</sup>Note :-please check the book's before leaving the school premise

# GREGORIAN PUBLIC SCHOOL

# BOOK LIST FOR THE YEAR 2021-2022 SR.KG QTY-75

SR.	PARTICULAR	PUBLICATION	RATE
1.	LETTER DELIGHT B PRIMER B	NEXT PLAY	189.00
2.	NUMBER EXPRESS PRIMER B	NEXT PLAY	249.00
3.	ADHARIKA PRIMER B	NEXT PLAY	199.00
4.	PERIWINKLE WRITING SKILL CURSIVE CAPITAL LETTER & SMALL	PERIWINKLE	135.00
	LETTER		
5.	PERIWINKLE CAPITAL NUMBERS UPTO 100	PERIWINKLE	145.00
6.	NUERSERY RHYMES C	FIREFLY PLUS	150.00
7.	DRAWING BOOK	1	20.00
8.	COVER SET		100.00
		TOTAL	
	NOTE BOOK		
1	A5 SIZE NOTE BOOK ENGLISH FOUR LINE 76 PGS	1	28.00
2	A5 SIZE NOTE BOOK HINDI 2 LINE 76 PGS	1	28.00
3	A5 SIZE NOTE BOOK MATHS SQUARE LINE 76 PGS	1	28.00
		TOTAL	84.00
			1271.00
	TOTAL AMOUNT - 1144.00	DISCOUNT	126
			1144.00

<sup>\*\*</sup>RAVECHI BOOK &STATIONERY SHOP.NO.7 PLOT NO.1 SURBHI PARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF -PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

<sup>\*</sup>note :-please check the books before leaving the school premiseS

SR.NO	<b>PARTICUL</b>	AR .	PUB	LICA	ΓIONS	PRICE
1.	ENGLISH , MAT	HS , SCIENCE	TEACI	H NEXT		375.00
2.	ENGLISH , MAT	HS , SCIENCE	TEACH NEXT			375.00
3.	THE NEW GRAM	IMAR TREE 1	OXFO	RD		225.00
4.	HINDI PARIVES	SH PATHAMLA	VIVA			295.00
5.	THE ART OF DR	THE ART OF DRAWING & COLOURING				150.00
6.	COMPUTER	COMPUTER				235.00
7.	G.K WOW			VORLD		190.00
8.	M.V SALT IN LIFE			VORLD		110.00
9.	MARATHI HASA	T GAAT SHIKUYA	MADH	IUBUN		182.00
10.	FIERFLY CURSI	VE WRITING	FIREF	LY		95.00
11	HINDI WRITING			PERIWINKLE		
12.	MARATHI WRITING - MY BOOK		CHETNA		75.00	
13.	COVER SET					150.00
				TOTA	\L	
	NOTE BOOK					
1.	ENGLISH	A5 SIZE 4 LINE NOTEBOOK 176 PC	GS	2	53.00	106.00
2.	COMPOSITION	A5 SIZE 4 LINE NOTEBOOK 176 PC	GS	1	53.00	53.00
3.	HINDI	A5 SIZE 2 LINE NOTEBOOK 176 PG	iS	2	53.00	106.00
4.	MARATHI	A5 SIZE 2 LINE NOTEBOOK 176 PG	iS	2	28.00	56.00
5.	MATHS	A5 SIZE SMALL SQUARE 176 PGS		2	53.00	106.00
6.	SCIENCE	A5 SIZE 4 LINE NOTEBOOK 176 PG	iS	2	53.00	106.00
7.	COMPUTER	A5 SIZE 4 LINE NOTEBOOK 76 PG	S	1	28.00	28.00
8.	DRAWING	3 A PLAIN DRAWING BOOK		1	40.00	40.00
				TC	TAL	601.00
						3153
		TOTAL AMOUNT - 2840.00		DIS	COUNT	313
						2840

\*\*RAVECHI BOOK &STATIONERY SHOP.NO.7 PLOT NO.1 SURBHIPARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF
-PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

### GREGORIAN PUBLIC SCHOOL

# **BOOK LIST FOR THE YEAR 2021-2022 STD-II**

SR.NO	PARTICULAR	PUBLICATIONS	PRICE
1.	ENGLISH , MATHS , SCIENCE	TEACH NEXT	375.00
2.	ENGLISH , MATHS , SCIENCE	TEACH NEXT	375.00

<sup>\*</sup>note :-please check the book's before leaving the school premise

					3032.00
		TOTAL AMOUNT- 3032.00	DIS	COUNT	337.00
					3369.00
			TOTA	\L	682.00
8.	DRAWING	3 A PLAIN DRAWING BOOK	1	40	40.00
7.	COMPUTER	A5 SIZE4 LINE NOTEBOOK 76 PGS	1	28	28.00
6.	MARATHI	A5 SIZE 2 LINE NOTEBOOK 176 PGS	3	28	84.00
5.	HINDI	A5 SIZE2 LINE NOTEBOOK 176 PGS	3	53	159.00
4.	SCIENCE	A5 SIZE 4 LINE NOTEBOOK 176 PGS	2	53	106.00
3.	MATHS	A5 SIZE SQUARE LINE NOTE BOOK 176PGS	2	53	106.00
2.	COMPOSITION	A5 SIZE 4 LINE NOTEBOOK 176 PGS	1	53	53.00
1.	ENGLISH	A5 SIZE 4 LINE NOTEBOOK 176 PGS	2	53	106.00
		NOTE BOOK			
			TOTA	<b>\L</b>	
13.	COVER SET				150.00
12.	MARATHI WRIT	TING MY BOOK CHETNA	CHET	NA	
11.	HINDI WRITIN	G	PERI	WINKLE	95.00
10.	CURSIVE WRIT	ING	FIREF	ELY	95.00
9.	M.V SALT IN L	IFE	PINE	WORLD	130.00
8.	G.K WOW		PINE	WORLD	210.00
7.	COMPUTER		MACN	1ILLAN	270.00
6.	THE ART OF DE	RAWING & COLOURING	FIREF	ELY	150.00
5.	MARATHI HASA	AT GAAT SHIKUYA	MADH	HUBUN	182.00
4.	HINDI PARIVE	SH PATHAMLA	VIVA		305.00
3.	REAL ENGLISH	GRAMMAR THE NEW GRAMMAR TREE 2	OXFO	RD	255.00

\*\*RAVECHI BOOK &STATIONERY SHOP.NO.7 PLOT NO.1 SURBHIPARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF -PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

### GREGORIAN PUBLIC SCHOOL

# BOOK LIST FOR THE YEAR 2021-2022 STD-III

SR.NO	PARTICULAR	PUBLICATIONS	PRICE
1.	ENGLISH, MATHS, SCIENCE, S.S.T TERM-1	TEACH NEXT	425.00
2.	ENGLISH, MATHS, SCIENCE, S.S.T TERM - 2	TEACH NEXT	425.00
3.	REAL ENGLISH GRAMMAR THE NEW GRAMMAR BOOK 3	OXFORD	

<sup>\*</sup>note :-please check the book's before leaving the school premise

					3400.00
		TOTAL AMOUNT - 3400.00	DISCO	UNT	377.00
					3777.00
			TOTAL		869.00
10.	COMPUTER	A5 SIZE 4 LINE NOTEBOOK 76 PGS	1	28	28.00
9.	DRAWING	3 A PLAIN DRAWING BOOK	1	40	40.00
8.	SOCIAL STUDIES	A5 SIZE 4 LINE NOTEBOOK 176 PGS	2	53	106.00
7.	MARATHI	A5 SIZE 2 LINE NOTEBOOK 176 PGS	3	28	84.00
6.	HINDI	A5 SIZE 2 LINE NOTEBOOK 176 PGS	3	53	159.00
5.	SCIENCE	A5 SIZE4 LINE NOTEBOOK 176 PGS	2	53	106.00
4.	MATHS	A5 SIZE SQUARE LINE NOTE BOOK 176 PGS	3	53	159.00
3.	GRAMMAR	A5 SIZE 4 LINE NOTEBOOK 76 PGS	1	28	28.00
2.	COMPOSITION	A5 SIZE 4 LINE NOTEBOOK 176 PGS	1	53	53.00
1.	ENGLISH	A5 SIZE4 LINE NOTEBOOK 176 PGS	2	53	106.00
		NOTE BOOK			
			TOTAL		
13.	COVER SET				150.00
12.	MARATHI WRITING MY BOOK		CHETNA		
11.				LE	95.00
9. 10.	COMPUTER CURSIVE WRITING	READS	MACMILLAN BEADS/FIREFLY		310.00 95.00
8.	M.V SALT IN LIFE		PINEWORL		130.00
7.	G.K WOW		PINEWORI		235.00
6.	DRAWING & COLOU	JRING	FIREFLY		130.00
5.	MARATHI HASAT G	AAT SHIKUYA	MADHUBU	N	193.00
4.	HINDI PARIVESH -	HINDI PATHMALA AVAM ABHYAS PUSTIKA	VIVA		325.00

<sup>\*\*</sup>RAVECHI BOOK &STATIONERY SHOP.NO.7 PLOT NO.1 SURBHIPARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF
-PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

### GREGORIAN PUBLIC SCHOOL

# **BOOK LIST FOR THE YEAR 2021-2022 STD-IV**

SR.NO	PARTICULAR	<b>PUBLICATIONS</b>	PRICE
1.	ENGLISH , MATHS , SCIENCE , S.S.T TERM -1	TEACH NEXT	425.00
2.	ENGLISH, MATHS, SCIENCE, S.S. T TERM - 2	TEACH NEXT	425.00

<sup>\*</sup>note :-please check the book's before leaving the school premise

MARATHI SOCIAL STUDIES DRAWING COMPUTER	A5 SIZE2 LINE NOTEBOOK 176PGS A5 SIZE 4 LINE NOTEBOOK 176 PGS 3 A PLAIN DRAWING BOOK A5 SIZE 4 LINE NOTEBOOK ANY EXTRA 76  TOTAL AMOUNT- 3680.00	3 2 1 1 TOTAL	28 53 40 28	84.00 106.00 40.00 28.00 1034.00 4088.00 4098
SOCIAL STUDIES DRAWING	A5 SIZE 4 LINE NOTEBOOK 176 PGS 3 A PLAIN DRAWING BOOK A5 SIZE 4 LINE NOTEBOOK ANY EXTRA 76	2 1 1	53 40	106.00 40.00 28.00 <b>1034.00</b>
SOCIAL STUDIES DRAWING	A5 SIZE 4 LINE NOTEBOOK 176 PGS 3 A PLAIN DRAWING BOOK	2 1 1	53 40	106.00 40.00 28.00
SOCIAL STUDIES DRAWING	A5 SIZE 4 LINE NOTEBOOK 176 PGS 3 A PLAIN DRAWING BOOK	2	53 40	106.00 40.00
SOCIAL STUDIES	A5 SIZE 4 LINE NOTEBOOK 176 PGS	2	53	106.00
		_		
MARATHI	A5 SIZE2 LINE NOTEBOOK 176PGS	3	28	84.00
HINDI	A5 SIZE 2 LINE NOTEBOOK 176PGS	2	53	106.00
HINDI	A5 SIZE 2 LINE NOTEBOOK 76 PGS	3	28	84.00
SCIENCE	A5 SIZE4 LINE NOTEBOOK 176 PGS	2	53	106.00
MATHS	A5 SIZEHORIZONTAL NOTE BOOK 176 PGS	5	53	265.00
GRAMMAR	A5 SIZE4 LINE NOTEBOOK 76 PGS	2	28	56.00
COMPOSITION	A5 SIZE 4 LINE NOTEBOOK 176 PGS	1	53	53.00
ENGLISH	A5 SIZE 4 LINE NOTEBOOK 176 PGS	2	53	106.00
NOTE BOOK				
		TOTAL		
COVER SET				150.00
MARATHI WRITING		MADHUBA	AN	120.00
HINDI WRITING		PERIWIN	KLE	95.00
		BEADS/FI	REFLY	95.00
				325.00
				130.00
			I D	255.00
				155.00
			JN	199.00
				345.00
	HINDI PARIVESH -H MARATHI HASAT GA FIREFLY DRAWING 8 G.K WOW M.V SALT IN LIFE COMPUTER CURSIVE WRITING HINDI WRITING MARATHI WRITING COVER SET  NOTE BOOK ENGLISH COMPOSITION GRAMMAR MATHS SCIENCE HINDI	M.V SALT IN LIFE  COMPUTER  CURSIVE WRITING BEADS  HINDI WRITING  MARATHI WRITING  COVER SET  NOTE BOOK  ENGLISH A5 SIZE 4 LINE NOTEBOOK 176 PGS  COMPOSITION A5 SIZE 4 LINE NOTEBOOK 176 PGS  GRAMMAR A5 SIZE4 LINE NOTEBOOK 76 PGS  MATHS A5 SIZEHORIZONTAL NOTE BOOK 176 PGS  SCIENCE A5 SIZE4 LINE NOTEBOOK 176 PGS  HINDI A5 SIZE 2 LINE NOTEBOOK 76 PGS	HINDI PARIVESH -HINDI PATHMALA AVAM ABHYAS PUSTIKA  MARATHI HASAT GAAT SHIKUYA  FIREFLY DRAWING & COLOURING  G.K WOW  M.V SALT IN LIFE  COMPUTER  CURSIVE WRITING BEADS  HINDI WRITING  MARATHI WRITING  COVER SET  FOTAL  NOTE BOOK  ENGLISH  A5 SIZE 4 LINE NOTEBOOK 176 PGS  GRAMMAR  A5 SIZE4 LINE NOTEBOOK 176 PGS  A5 SIZEHORIZONTAL NOTE BOOK 176 PGS  SCIENCE  A5 SIZE4 LINE NOTEBOOK 176 PGS  A5 SIZE4 LINE NOTEBOOK 176 PGS  A5 SIZEHORIZONTAL NOTE BOOK 176 PGS  SCIENCE  A5 SIZE4 LINE NOTEBOOK 176 PGS  A5 SIZE4 LINE NOTEBOOK 176 PGS  A5 SIZEHORIZONTAL NOTEBOOK 176 PGS  A5 SIZE4 LINE NOTEBOOK 176 PGS	HINDI PARIVESH -HINDI PATHMALA AVAM ABHYAS PUSTIKA  MARATHI HASAT GAAT SHIKUYA  FIREFLY DRAWING & COLOURING  FIREFLY  G.K WOW  M.V SALT IN LIFE  COMPUTER  CURSIVE WRITING BEADS  HINDI WRITING  FOTAL  TOTAL  MACHILLAN  FOTAL  FOTAL  NOTE BOOK  ENGLISH  A5 SIZE 4 LINE NOTEBOOK 176 PGS  A5 SIZE4 LINE NOTEBOOK 176 PGS  GRAMMAR  A5 SIZE4 LINE NOTEBOOK 176 PGS  A5 SIZE4 LINE NOTEBOOK 176 PGS

\*\*RAVECHI BOOK &STATIONERY SHOP.NO.7 PLOT NO.1 SURBHIPARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF
-PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

# GREGORIAN PUBLIC SCHOOL

# BOOK LIST FOR THE YEAR 2021-2022 STD-V 90

SR.N O	PARTICULAR	PUBLICATIONS	PRICE
1.	ENGLISH , MATHS , SCIENCE , S.S.T TERM -1	TEACH NEXT	425.00
2.	ENGLISH , MATHS , SCIENCE , S.S. TTERM - 2	TEACH NEXT	425.00
3.	REAL ENGLISH GRAMMAR THE NEW GRAMMAR 5	OXFORD	
4.	HINDI PARIVESH -HINDI PATHMALA AVAM ABHYAS PUSTIKA	VIVA	355.00

<sup>\*</sup>note :-please check the book's before leaving the school premise

5.	MARATHI HAS	AT GAAT SHIKUYA	MADHUBUN		199.00
6.	SANSKRIT		TEACH NEXT		249.00
7.	FIERFLY DRAW	VING & COLOURING	FIREFLY		155.00
8.	G.K WOW		PINEWORLD		255.00
9.	M.V SALT IN L	IFE	PINEWORLD		140.00
10.	COMPUTER		MACMILLAN		335.00
11.	CURSIVE WRI	CURSIVE WRITING BEADS		LY	95.00
12.	HINDI WRITIN	IG	PERIWINKLE		95.00
13.	MARATHI WRI	TING	MADHUBAN		120.00
14.	COVER SET				150.00
			TOTAL		
		NOTE BOOK			
1.	ENGLISH	A5 SIZE SINGLE LINE NOTEBOOK n 176PGS	3	53	159.00
2.	COMPOSITION	A5 SIZE SINGLE LINE LINE NOTEBOOK 76 PGS	1	28	28.00
3.	GRAMMAR	A5 SIZE SINGLE LINE LINE NOTEBOOK 76 PGS	1	28	28.00
4.	MATHS	A5 SIZE HORIZONTAL NOTE BOOK 176PGS	5	53	265.00
5.	SCIENCE	A5 SIZE SINGLE LINE NOTEBOOK 176 PGS	2	53	106.00
6.	HINDI	A5 SIZE SINGLE LINE NOTEBOOK 176 PGS	3	53	159.00
7.	HINDI	A5 SIZE SINGLE LINE NOTEBOOK 76 PGS	1	28	28.00
8.	MARATHI	A5 SIZE SINGLE LINE NOTEBOOK 176 PGS	3	53	159.00
9.	SANSKRIT	A5 SIZE SINGLE LINE NOTEBOOK 176 PGS	2	53	106.00
10	SOCIAL STUDIES	A5 SIZE SINGLE LINE NOTEBOOK 176 PGS	2	53	106.00
11.	DRAWING	4A PLAIN DRAWING BOOK	1	55	55.00
12.	COMPUTER	A5 SIZE4 LINE NOTEBOOK 76 PGS	1	28	28.00
			TOTAL		1227.00
					4550.00
		TOTAL AMOUNT- 4095.00			455
					4095.00

# GREGORIAN PUBLIC SCHOOL

# BOOK LIST FOR THE YEAR 2021-2022 STD-VI 120

SR.NO	PARTICULAR	<b>PUBLICATIONS</b>	PRICE
1.	HONEY SUCKLE	NCERT	60.00
2.	A PACT OF THE SON	NCERT	35.00
3.	ENGLISH GRAMMAR & COMPOSITION	OXFORD	
4.	SCIENCE	NCERT	60.00
5.	MATHS	NCERT	60.00
6.	HISTORY	NCERT	60.00
7.	GEOGRAPHY	NCERT	55.00
8.	POLITICAL SCIENCE	NCERT	60.00

					3470.00
					386.00
		TOTAL AMOUNT- 3470.00			3856.00
14:			TOTAL		1297.00
12.	MATHAS	GRAP BOOK 28 PEG	1	20	20.00
11.	COMPUTER	1 LINE LONGBOOK 76 PGS ANY EXTRA	1	26	26.00
10.	DRAWING	A4 PLAIN DRAWING BOOK	1	55	55.00
9.	SOCIAL STUDIES	1 LINE LONGBOOK 76PGS	4	26	104.00
8.	SANSKRIT	1 LINE LONGBOOK 176 PGS	3	52	156.00
7.	HINDI	1 LINE LONGBOOK 76 PGS	2	26	52.00
<u>5.</u> 6.	HINDI	SINGAL LINE 176 PGS	3	52	156.00
<del>5.</del>	MARATHI	SINGAL LINE 76 PGS	2	26	52.00
<u>3.</u> 4.	MARATHI	SINGAL LINE 176 PGS	2	52	156.00
3.	SCIENCE	SINGAL LINE 176 PGS	2	52	156.00
2.	,GRAMMAR ,COMPO MATHS	SINGAL LINE 176 PGS	4	52	208.00
1.	ENGLISH	SINGAL LINE 176 PGS	3	52	156.00
	NOTE BOOK		IOIAL		2333.00
19.	COVER SET		TOTAL		2559.00
18	COVER SET	DAI GAAI SIIIKUTA	IMADUO	OUN	150.00
17		SAT GAAT SHIKUYA	MADHUB	LIN	199.00
16.	M.V SALT IN DRAWING & O		FIREFLY	KLD	140.00
15.	G.K WOW	LIEE	PINEWORLD PINEWORLD		260.00
14.	COMPUTER N	MADE EASY	CORDOV		215.00
13.	HINDI GRAMN			UCATION	315.00
12	HINDI BAL RA		NCERT		45.00
11.		NTH TEXT BOOK	NCERT		60.00
10.	SANSKRIT		NCERT		50.00
9.	DIAMOND MA	P BOOK	SARSWA	TI	195.00

# BOOK LIST FOR THE YEAR 2021-2022 STD-VII

SR.NO	PARTICULAR	<b>PUBLICATIONS</b>	PRICE
1.	HONEY COMB	NCERT	60.00
2.	AN ALIEN HAND	NCERT	40.00
3.	ENGLISH GRAMMAR TREE	OXFORD	390.00
4.	SCIENCE	NCERT	60.00
5.	MATHS	NCERT	60.00
6.	HISTORY	NCERT	55.00
7.	GEOGRAPHY	NCERT	60.00
8.	POLITICAL SCIENCE	NCERT	60.00
9.	DIAMOUND MAP BOOK	SARSWATI	205.00
10.	SANSKRIT	NCERT	50.00
11.	HINDI VASANTH TEXT BOOK	NCERT	60.00
13.	HINDI MAHABHARAT KATHA	NCERT	55.00

14.	HINDI GRAMM	IAR	VIVA EDU	CATION	325.00
15.	COMPUTER N	1ADE EASY	CORDOVA	1	220.00
16.	G.K WOW		PINEWOR	PINEWORLD	
17.	M.V SALT IN	LIFE	PINEWOR	PINEWORLD	
18.	DRAWING & C	COLOURING	FIREFLY		165.00
19.	MARATHI HAS	AT GAAT SHIKUYA	MADHUBU	JN	199.00
20.	COVER SET				150.00
			TOTAL		2619.00
1.	ENGLISH ,GRAMMAR ,COMPO	SINGLE LINE 200 PGS	3	52	156.00
2.	MATHS	SINGLE LINE 200 PGS	4	52	208.00
3.	SCIENCE	SINGLE LINE 200 PGS	3	52	156.00
4.	HINDI	SINGLE LINE 200 PGS	3	52	156.00
5.	HINDI	SINGAL LINE 100 PGS	2	26	52.00
6.	SANSKRIT	SINGLE LINE 200 PGS	3	52	156.00
7.	ENGLISH	SINGLE LINE 100 PGS	2	26	52.00
8.	SOCIAL STUDIES	SINGLE LINE 76PGS	4	26	104.00
9.	DRAWING	A4 PLAIN DRAWING BOOK	1	55	55.00
10.	MARATHI	SINGLE LINE 200 PGS	2	52	104.00
11.	MARATHI	SINGLE LINE 100 PGS	2	26	52.00
12.	COMPUTER	1 LINE LONG BOOK 100 PGS	1	26	26.00
13.		GRAPH BOOK 28 PGS	1	20	20.00
			TOTAL		1297.00
					3916.00
					391.00
					3525.00
		TOTAL AMOUNT- 3525.00			

\*\*RAVECHI BOOK &STATIONERY SHOP.NO.7 PLOT NO.1 SURBHIPARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF -PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

# GREGORIAN PUBLIC SCHOOL BOOK LIST FOR THE YEAR 2021-2022 STD-VIII

SR.NO	PARTICULAR	PUBLICATIONS	PRICE
1.	HONEY DEW	NCERT	60.00
2.	IT OP HAPPEN SO	NCERT	45.00
3.	ENGLISH GRAMMAR & COMPOSITION	OXFORD	405.00
4.	SCIENCE	NCERT	60.00
5.	MATHS	NCERT	60.00
6.	HISTORY PART-I & II 2PIC	NCERT	100.00
7.	GEOGRAPHY	NCERT	50.00
8.	POLITICAL SCIENCE	NCERT	50.00
9.	DIAMOUND MAP BOOK	SARSWATI	245.00
10.	SANSKRIT	NCERT	50.00
11.	HINDI VASANTH TEXT BOOK	NCERT	60.00

<sup>\*</sup>note :-please check the book's before leaving the school premise

12.	HINDI BHART K	HINDI BHART KI KHOJ		NCERT	
13.	HINDI GRAMMAR		VIVA EDUCATION		375.00
14.	COMPUTER MADE EASY		CORDOVA		225.00
15.	G.K WOW		PINEWORL	PINEWORLD	
16.	M.V SALT IN LI	:FE	PINEWORL	_D	130.00
17	DRAWING & CO	LOURING	FIREFLY		165.00
18.	MARATHI HASA	T GAAT SHIKUYA	MADHUBUN		199.00
19	COVER SET				
			TOTAL		
	NOTE BOOK				
1.	ENGLISH	SINGLE LINE 200 PGS	3	52	156.00
2.	MATHS	SINGLE LINE 200 PGS	4	52	208.00
3.	SCIENCE	SINGLE LINE 100 PGS	6	26	156.00
4.	HINDI	SINGLE LINE 200 PGS	3	52	156.00
5.	HINDI	SINGLE LINE 100 PGS	2	26	52.00
6.	SANSKRIT	SINGLE LINE 200 PGS	3	52	156.00
7.	SOCIAL STUDIES	SINGLE LINE 200 PGS	1	52	52.00
8.	SOCIAL STUDIES	SINGLE LINE 100 PGS	3	26	78.00
9.	DRAWING	A4 PLAIN DRAWING BOOK	1	55	55.00
10.	MATHAS	GRAPH BOOK 28 PGS	1	20	20.00
11.	COMPUTER	SINGLE 100 PGS	1	26	26.00
12.	MARATHI	SINGLE LINE 200 PGS	2	52	104.00
13.	MARATHI	SINGLE LINE 100 PGS	2	26	52.00
			TOTAL		1271.00
					4105.00
					410.00
		TOTAL AMOUNT- 3695.00			3695.00

# GREGORIAN PUBLIC SCHOOL BOOK LIST FOR THE YEAR 2021-2022 STD-IX

SR.N O	PARTICULAR	PUBLICATIONS	PRICE
1.	ENGLISH MOMENT	NCERT	40.00
2.	ENGLISH BEHIEVE	NCERT	75.00
3.	ENGLISH WORKBOOK	NCERT	130.00
4.	WREN & MARTIN GRAMMAR BOOK		355.00
5.	MATHS	NCERT	155.00
6.	SCIENCE	NCERT	135.00
7.	SCEINCE LAB MANUAL PHY,CHE,BIOLG	PERIWINKLE	735.00
8.	SOCIAL STUDIES HISTORY	NCERT	115.00
9.	SOCIAL STUDIES ECONOMIC B	NCERT	65.00
10.	SOCIAL STUDIES POLITICAL SCIENCE	NCERT	80.00
11.	SOCIAL STUDIES GEOGRAPHY	NCERT	55.00
12.	SANSKRIT SEAMOSHI	NCERT	50.00

13.	SANSKRIT SEAMOSHI WORK BOOK		NCERT		
14.	COMPUTER		MACMILLAN		520.00
15.	MAP BOOK DIA	MAP BOOK DIAMOND		DIAMOND	
			ТОТ	AL	
	NOTE BOOK				
1.	ENGLISH	SINGLE LINE NOTE BOOK 200 PGS	2	52	104.00
2.	COMPOSION	SINGLE LINE LONG BOOK 100 PGS	2	26	52.00
3.	GRAMMAR	SINGLE LINE LONG BOOK 200 PGS	2	52	104.00
4.	MATHS	SINGLE LINE LONG BOOK 200 PGS	5	52	260.00
5.	SCIENCE	SINGLE LINE LONG BOOK 200 PGS	3	52	156.00
6.	SANSKRIT	SINGLE LINE LONG BOOK 200 PGS	2	52	104.00
7.	SOCIAL STUDIES	SINGLE LINE LONG BOOK 100 PGS	4	26	104.00
8.	DRAWNG	A4 PLAIN DRAWING BOOK	1	55	55.00
9.	COMPUTER	1 LINE LONG BOOK 200 PGS	1	52	26.00
10		BOOK COVER			
			TOTAL		965.00
					4065.00
		TOTAL AMOUNT - 3660.00	DISCOU	NT	405.00
					3660.00

\*\*RAVECHI BOOK &STATIONERY SHOP.NO.7 PLOT NO.1 SURBHIPARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF -PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

# GREGORIAN PUBLIC SCHOOL BOOK LIST FOR THE YEAR 2021-2022 STD-X 55

SR.NO	PARTICULAR	PUBLICATIONS	PRICE
1.	ENGLISH FIRST FIGHT	NCERT	80.00
2.	ENGLISH FOOT PRINT	NCERT	40.00
3.	ENGLISH WORKBOOK	NCERT	130.00
4	SCIENCE	NCERT	165.00
5	SCIENCE LAB MANUAL PHY, CHE, BIOLOGY	PERIWINKLE	665.00
6	MATHS	NCERT	140.00
7	SOCIAL STUDIES HISTORY	NCERT	145.00
8	SOCIAL STUDIES ECONOMIC	NCERT	65.00
9	SOCIAL STUDIES POLITICAL SCIENCE	NCERT	80.00
10	DISASTER MANAGEMENT	CBSE	30.00
11	SOCIAL STUDIES GEOGAPHY	NCERT	65.00
12	SANSKRIT SEAMOSHI	NCERT	65.00
13	SANSKRIT SEAMOSHI WORK BOOK	NCERT	100.00
14	COMPUTER	MACMILLAN	470.00
15	MAP BOOK	DIAMOND	265.00
16	SCOUT & GUIDE JOURNAL	JEEVANDEEP	75.00

<sup>\*</sup>note :-please check the book's before leaving the school premise

17	COVER SET				150.00
			TOTAL		3150.00
		NOTE BOOK			
1.	ENGLISH	SINGLE LINE NOTE BOOK 176 PGS	2	52	104.00
2.	COMPOSION	SINGLE LINE LONG BOOK 76 PGS	2	26	52.00
3.	GRAMMAR	SINGLE LINE LONG BOOK 176 PGS	2	52	104.00
4.	MATHS	SINGLE LINE LONG BOOK 176 PGS	5	52	260.00
5.	SCIENCE	SINGLE LINE LONG BOOK 176 PGS	3	52	156.00
6.	SANSKRIT	SINGLE LINE LONG BOOK 176 PGS	2	52	104.00
7.	SOCIAL STUDIES	SINGLE LINE LONG BOOK 76 PGS	4	26	104.00
8.	DRAWNG	4A PLAIN DRAWING BOOK	1	55	55.00
9.	COMPUTER	1 LINE LONG BOOK 176 PGS	1	26	26.00
			TOTAL	'	965.00
					4115.00
		TOTAL AMOUNT - 3705.00		410.00	
					3705.00

<sup>\*\*</sup>RAVECHI BOOK &STATIONERY SHOP.NO.7 PLOT NO.1 SURBHIPARADISE.NEAR AMRITA VIDYALAYAM SECTOR 25 OFF
-PETROL PUMP,JUI NAGAR NAVI MUMBAI- 400706 (MAHARASTRA).E-MAIL RAVECHIBKDP@YAHOO.COM TELFAX= 02227720445

# **BOOK LIST**

NURSERY	
JR.KG	
SR.KG	
STD=I	
STD =II	
STD =III	

<sup>\*</sup>note :-please check the book's before leaving the school premise

STD=IV	
STD=V	
STD=VI	
STD =VII	
STD =VIII	
STD=IX	
STD =X	

# **GREGORIAN PUBLIC SCHOOL**

#### **ANNUAL REPORT 2019-2020**

With immense pleasure and profound gratitude to God Almighty and by seeking the intercession of our Patron Saint, St. Gregorios of Parumala, let me avail of this proud privilege to present the Annual Report of academic year 2019-2020.

The Gregorian Public School got another feather on its cap by gaining 100% result for the fourth consecutive year for std. X in C.B.S.E Board Examinations. Total number of students who appeared last year for Board Exam were 39 in which 6 achieved above 90%, 14 passed with distinction, 13 with first class and 6 with second class. Our students who made us proud are:-

1.	JEETJAYESH JAIN	94.2%
2.	SOHAMSHYAMDESHMUKH	93.2%
3.	ARPITBHAVESHDAMANI	92.2%

Our students are well equipped with knowledge by continuous upgradation of infrastructural facilities like E-learning supported by Teach Next, Laboratories of Computer, Science and Mathematics, well equipped library etc. We conducted counseling for individual and group of students twice in a week for whole year.

**Competitive Exams**:-The school is a platform for number of competitive exams like – Mother Teresa National Colouring competition, Drawing Competition of Raghukul Trust Dombivili, HomiBhabha Exams, Olympiad Exams, Bhaskaracharya Mathematical Talent search exam, IQUBE Exams etc., which enhanced them to evaluate their knowledge of Mathematics, Science and General Knowledge and to prepare for the challenging future ahead.

**Sports and Athletics**:-Our school provides the platform for fulfilling the young champions' desire, dream and vision. Students are participated under category 14 and 17 in Zonal, District, Taluka and inter school sports competitions and scored prizes also. We hosted Net ball and throw ball district competition and we scored prizes too in these. Annual sports for the school was organized with various individual and team events, indoor and outdoor.

**Achievements**: Team of our students participated in GIZMO TOURNAMENT held at St. Mary's ICSE School, Koperkhairane. Two teams of our students participated in Interschool Science Exhibition (ENIGMA) held at St. Mary's Multipurpose High School, Vashi and the Junior group secured the second position.

**Co- curricular activities :-**Inorder to have the Co-curricular activities, we had 4 clubs – Nature Elixir, Philanthropy, Melodrama and Chef Cuisine.One day picnic was arranged for both primary and secondary section students. Camp and trekking was arranged for the Scouts & Guides. Various festivals were celebrated with many programs.

**Extra programmes organized by the School**:- We are conducting Remedial classes for weak students of Primary and Secondary. Yoga classes, Karate classes etc held during and after class hours. In order to guide students about their future career, an 'Aptitude test' was conducted.

**Teachers' Training:** — Our teachers attended various training sessions organized by CBSE. Training on 'Art of Living' to reduce the stress and update teaching methods in association with Lions Club was also attended.

Now before I conclude, let me take this opportunity to express my deep gratitude to our beloved Manager His Grace Geevarghese Mar Coorilos for blessing us with all guidance and support. I also thank the Management, Gregorian Community Trust, School Committee members and MOCCB for the unabated guidance. I value and thank for the great support of Dr. Sunny Pariyaram, the Chairman of School Committee, Rev. Fr. Abraham Joseph the C.E.O of MOCCB, Rev. Fr. Jobin Varghese the Secretary of Gregorian Community. We are indeed very fortunate to have a very good PTA team who are guiding and supporting us. Above all we are grateful to the reputed officials of Panchayat Samiti, Police Department and Education Department for their co-operation and support. I wish you all a very happy and successful year ahead.

Thanking you,

#### **PRINCIPAL**